N of associated (recoToSim) looper tracks vs normalized X’

track x?

berset

) tracks vs normalized x?

recoToSim)

[{

[N o associated

ized x?

ck vs normal

[N of reco tra

sxoen aredidnp

%02 4 6 8 10 12 14 16 18 20

syoen areandnp

8 10 12 14 16 18 20

syoen

BTG

track x2

iR

[ Nof reco track vs. { ———

I o
N <
00 X
— O
8
© =
<
—
o
—
o
—
o
©
- :
BN E:
5
o EE L HAEE £t
S =) (=) =}
- - -
syoen axel
I o
N <
00 X
— O
©
© 5
—
<
~
o
—
o
—
0
©
<
o
; 4
(M f
~ FE o o o)
<] = 79 2 o B
oney DMW syoel ani oney

syoen oney



	Contents
	Page 1


